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1101 | K48 dbimE 250 2500 0 2500 10 0 0 0 1944 0 1188
EE 115 1150 0 1150 10 0 0 0 1080 0 648
RE 5 75 0 75 15 0 0 0 0 648 0
& 370 3725 0 3725
NB|FEFEAS [dtiEE 500 5000 0 5000 10 0 0 0 1296 0 648
& 500 5000 0 5000
1141[54R BmE 14 70 0 70 5 0 0 0 3240 0 864
& 5 50 0 50 10 0 0 0 0 1728 0
GhH 19 120 0 120
1201|833 E% 147 2205 0 2205 15 0 0 0 2376 0 1080
GhH 147 2205 0 2205
1203|F vy [EHE 155 1550 0 1550 10 0 0 0 1620 0 1404
BHE 200 3000 0 3000 15 0 0 0 0 1134 0
EF 61 610 0 610 10 0 0 0 1944 0 1458
(&) 416 5160 0 5160
1204|G7R—J)L  [E® 35 350 0 350 10 0 0 0 0 648 0
GhH 35 350 0 350
1205 IF5NAE GED 20 80 0 80
1207[ & Gb 870 87 87 0
1209| B & dLiEE 5 25 0 25 5 0 0 0 2916 0 2700
(&) 10 40 0 40
1221|=vE (D) 12 17 0 17
1227[ K3 RE 233 93 93 0 0.4 167 0 49 0 0 0
12 hel 250 50 0 50 0.2 0 0 0 119 0 108
(&) 483 143 93 50
1245 |1 EE 400 80 0 80 0.2 0 0 0 0 211 0
RE 315 126 126 0 0.4 238 0 92 0 0 0
(&) 1015 266 126 140
1301 |HF ] 20 6 0 6 0.3 0 0 0 0 184 0
e 20 10 0 10 0.5 0 0 0 0 238 0
S 15 75 0 75 5 0 0 0 2916 0 2484
BiE 12 5 0 5 0.4 0 0 0 0 211 0
(&) 87 196 0 196
1311[F=E I & 60 240 0 240 4 0 0 0 3564 0 2592
(&) 60 240 0 240
1321 [#R dLiEE 300 1500 0 1500 5 0 0 0 2808 0 2106
BiE 31 155 0 155 5 0 0 0 3024 0 1620
Eh 331 1655 0 1655
13B1E—<> [EE 1020 153 0 153 0.15 0 0 0 135 0 130
Eh 1020 153 0 153
1355|455 BERS 80 8 0 8 0.1 0 0 0 0 97 0
Eh 160 16 0 16
1603|tz)L)— [E%H 4 40 0 40 10 0 0 0 4104 0 3888
Eh 4 40 0 40
16097 aval)  [dtiEE 90 720 0 720 8 0 0 0 4018 0 3629
f=554 21 126 0 126 6 0 0 0 4104 0 2592
(&) 111 846 0 846
1611[LAR % 4 20 0 20 5 0 0 0 0 1620 0
=% 10 100 0 100 10 0 0 0 2700 0 2592
Gh 14 120 0 120
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1612|[H =L 52X |EFH 5 25 0 25 5 0 0 0 0 2160 0
ED 5 25 0 25
1627|2=k<b [&D) 90 270 0 270
1705| L= fa] 450 36 0 36 0.08 0 0 0 0 56 0
(&) 454 52 0 52
1715| KE = 20 2 0 2 0.1 0 0 0 0 378 0
GhH 20 2 0 2
1803 | E EE 630 63 0 63 0.1 0 0 0 135 0 109
EE 450 90 0 90 0.2 0 0 0 77 0 66
& 1080 153 0 153
1807 |#BEH f=554 250 25 0 25 0.1 0 0 0 0 46 0
=% 960 192 0 192 0.2 0 0 0 86 0 72
GhH 1210 217 0 217
1809|L&HL EF 400 40 0 40 0.1 0 0 0 49 0 29
(&) 400 40 0 40
* S FAET * 16485 41783 525 41257
2103| B EHMA (&) 90 900 0 900
220528 i 66 660 0 660 10 0 0 0 4104 0 2376
[E)) 66 660 0 660
2609 | B I IIE] 270 95 0 95 0.35 0 0 0 659 0 594
(&) 270 95 0 95
2601 |E4A—2  |EL 56 22 0 22 0.4 0 0 0 475 0 356
[E)) 56 22 0 22
2616|S<AAL__ [ELW 12 8 0 8 0.7 0 0 0 0 1296 0
& L1 2 4 0 4 2 0 0 0 0 3348 0
(&) 14 12 0 12
2821 |BIER EE 72 29 0 29 0.4 0 0 0 508 0 475
RE 144 72 0 72 0.5 0 0 0 389 0 259
[E)) 216 101 0 101
* S EEET * 1334 2680 0 2680




